B
EHEIZKOGHE

T = 4 PN T AGE EKERTHF(GF4TX)
L 4)

T F % Hr MG HAEHE HIN

HOA X F 4 MRt R T3

T F M Al AR THF

T = # = HKERT EHiERERE L=104.5m

2 K & MM 26,950,000 [

€T ) &L SR6AE10H 16 H

SEK SMTHE3SA25H

BT

z B O£ A H SMTHE3SA21H

KK (KW 1%) 30,295,100 (VHE B M G EE#REZ ST, )

T E:1j] SEAK,

z B O H

1 EFZr L (kD)

FEAHALER DN T, JEMEREEA7.0km CRF_E L TUN s, B2 B G E DALy H)3 . 5km D
G T Cohol-7-  EMRIEEEA AT LU E/mL7-\,

%1 A
27Ny ERE T (FAKE 1) [.=7.0km [.=1.5km
27 Ny sk L (—fi%x 1) [.=7.0km [.=1.5km

2. HEr L (HEEETIE)

145-5 MR O HERE TIERPTICIB W T, BESLHIFEDORS, BERR
HIENHIBALZ - 145-BbMHO . BAEETELUERLIZV,

RDIKIEE DRI O R L2

L 4) A
145-4~145-5& 5
T (¢ 200mm) [=7.0m [.=6.8m
145-5~145-6 & #5
HEYE T (¢ 200mm) BT
3. AP (%A, Bt % E 1)

145-7T~145-8&HR D~ /L7 Te AT DI TAZ-OUNT ., S HIOEHE TIZRER O 5 A4 FA8
U BB S OO AV Z L THZIEKES T )2 BT 5T Th-o7o s, RED I
WIZZ W2 IS AN SRS IO RS L TRLW SR R E 2 T T2 4 IO T A D %

ﬁmlﬁ‘éioﬁﬁb%ﬁmbtu \
L)
145-7~145-8 & f
ShEERR BT (H=20cmE T) L=—m
SHEERRAA (t=5cm) A=—m2
A% T (RC-40, t=1cm) A=—m2
8 T.(1.4m<W) A=—m2

BRI - R E (1. 1m) L=—m

EH

[=14.0m
A=60m2
A=60m2
A=60m2
L=8.0m



4. L (BRE L)

RENZSL L8 T ARRANAT OB RS TS T I ENRNETH L0 FRELE T
PEEVEREATOIOE T L FEMLIZW,

L) vl
TERKEREE T N=—=, N=17;
5. BT (A HALFESY X 12-1)

AR LHFEROIBBIZIN T, B EIERHBIE D A N KB ~DO B D -T2 L
b AREAMRR M OB IR E 2 TURm LV,

1R W
T (¢ 200mm) L=—m L=14.40m
AT (15) N=—J%& N=1%:
B ERBLOFET L N=—1& At N=1{& At

6. TOML, FHHUIE ST DI 7RBEHIARE R AE L2V,



